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LINEAR EQUATIONS IN ONE VARIABLE

Exercise 2 1

1. Solve the following equations. 

x - 2 = 7

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gGgENWuZRuyZ


2. Solve the following equations. 

y + 3 = 10

Watch Video Solution

3. Solve the following equations. 

6 = z + 2

Watch Video Solution

https://dl.doubtnut.com/l/_gGgENWuZRuyZ
https://dl.doubtnut.com/l/_7jTJGPt7qvp3
https://dl.doubtnut.com/l/_o9RWKA441e8R


4. Solve the following equations. 

Watch Video Solution

+ x =
3

7

17

7

5. Solve the following equations. 6x = 12

Watch Video Solution

6. Solve the following equations. 

Watch Video Solution

= 10
t

5

https://dl.doubtnut.com/l/_qPpxs5Azxf0S
https://dl.doubtnut.com/l/_SI7S8EZfR8t0
https://dl.doubtnut.com/l/_tNQkJd1F6hsD


7. Solve the following equations. 

Watch Video Solution

= 18
2x

3

8. Solve the following equations. 

Watch Video Solution

1.6 =
y

1.5

9. Solve the following equations. 7x – 9 = 16

Watch Video Solution

https://dl.doubtnut.com/l/_tNQkJd1F6hsD
https://dl.doubtnut.com/l/_4Qt6SeqRY7wE
https://dl.doubtnut.com/l/_ss2zg7XsrAM8
https://dl.doubtnut.com/l/_nbDU7lLwbnWD


10. Solve the following equations. 14y – 8 = 13

Watch Video Solution

11. Solve the following equations. 17 + 6p = 9

Watch Video Solution

12. Solve the following equations. 

+ 1 =
x

3

7

15

https://dl.doubtnut.com/l/_nbDU7lLwbnWD
https://dl.doubtnut.com/l/_rpby36wXdVXr
https://dl.doubtnut.com/l/_tIqMt5nMrfms
https://dl.doubtnut.com/l/_zlvOe1U1sBZj


Watch Video Solution

13. Solve the following equations. 

x - 2 = 7

Watch Video Solution

14. Solve the following equations. 

y + 3 = 10

Watch Video Solution

https://dl.doubtnut.com/l/_zlvOe1U1sBZj
https://dl.doubtnut.com/l/_KPl2YBKxNezK
https://dl.doubtnut.com/l/_5xCg1uz4VWoN
https://dl.doubtnut.com/l/_3Y0gR6tSTr34


15. Solve the following equations. 

6 = z + 2

Watch Video Solution

16. Solve the following equations. 

Watch Video Solution

+ x =
3

7

17

7

17. The value of x in the equation 6x = 12 is :

https://dl.doubtnut.com/l/_3Y0gR6tSTr34
https://dl.doubtnut.com/l/_gAYdezsvblKX
https://dl.doubtnut.com/l/_vbjxbECArJPL


Watch Video Solution

18. Solve the following equations. 

Watch Video Solution

= 10
t

5

19. Solve the following equations. 

Watch Video Solution

= 18
2x

3

20. Solve the following equations. 1.6 =
y

1.5

https://dl.doubtnut.com/l/_vbjxbECArJPL
https://dl.doubtnut.com/l/_ysklrWobeJlm
https://dl.doubtnut.com/l/_o6M7uLdOsPHO
https://dl.doubtnut.com/l/_mN8fMvd2C2gX


Watch Video Solution

21. Solve the following equations. 7x – 9 = 16

Watch Video Solution

22. Solve the following equations. 14y – 8 = 13

Watch Video Solution

23. Solve the following equations. 17 + 6p = 9

https://dl.doubtnut.com/l/_mN8fMvd2C2gX
https://dl.doubtnut.com/l/_YXo9OKQZ8WWI
https://dl.doubtnut.com/l/_F6pTyxUtQxbA
https://dl.doubtnut.com/l/_KS4ImPayPpkm


Exercise 2 2

Watch Video Solution

24. Solve the following equations. 

Watch Video Solution

+ 1 =
x

3

7

15

1. If you subtract  from a number and

multiply the result by , you get . What is

the number?

1

2
1

2

1

8

https://dl.doubtnut.com/l/_KS4ImPayPpkm
https://dl.doubtnut.com/l/_2jE1oxwrFC6A
https://dl.doubtnut.com/l/_3Kjp2qlab8CA


Watch Video Solution

2. The perimeter of a rectangular swimming

pool is 154 m. Its length is 2 m more than

twice its breadth. What are the length and the

breadth of the pool?

Watch Video Solution

3. The base of an isosceles triangle is  cm.

The perimeter of the triangle is  cm. What

4

3

4
2

15

https://dl.doubtnut.com/l/_3Kjp2qlab8CA
https://dl.doubtnut.com/l/_sqwDBxy90bqa
https://dl.doubtnut.com/l/_XIHorwQoQIKx


is the length of either of the remaining equal

sides?

Watch Video Solution

4. Sum of two numbers is 95. If one exceeds

the other by 15, find the numbers.

Watch Video Solution

5. Two numbers are in the ratio 5:3. If they

differ by 18, what are the numbers?

https://dl.doubtnut.com/l/_XIHorwQoQIKx
https://dl.doubtnut.com/l/_IaqjNs5syRSL
https://dl.doubtnut.com/l/_6vuwLvMG07DC


Watch Video Solution

6. Three consecutive integers add up to 51.

What are these integers?

Watch Video Solution

7. The sum of three consecutive multiples of 8

is 888. Find the multiples.

Watch Video Solution

https://dl.doubtnut.com/l/_6vuwLvMG07DC
https://dl.doubtnut.com/l/_Dxn3on5udnc2
https://dl.doubtnut.com/l/_L81qF5IEsfTl
https://dl.doubtnut.com/l/_aXuhQOsVfVun


8. Three consecutive integers are such that

when they are taken in increasing order and

multiplied by 2, 3 and 4 respectively, they add

up to 74. Find these numbers.

Watch Video Solution

9. The ages of Rahul and Haroon are in the

ratio 5:7. Four years later the sum of their ages

will be 56 years. What are their present ages?

Watch Video Solution

https://dl.doubtnut.com/l/_aXuhQOsVfVun
https://dl.doubtnut.com/l/_nR0aLygcg5zq


10. The number of boys and girls in a class are

in the ratio 7:5. The number of boys is 8 more

than the number of girls. What is the total

class strength?

Watch Video Solution

11. Baichung’s father is 26 years younger than

Baichung’s grandfather and 29 years older

than Baichung. The sum of the ages of all the

https://dl.doubtnut.com/l/_FytqpDXfoOVl
https://dl.doubtnut.com/l/_6Qsy6c9QVIhN


three is 135 years. What is the age of each one

of them?

Watch Video Solution

12. Fifteen years from now Ravi’s age will be

four times his present age. What is Ravi’s

present age?

Watch Video Solution

https://dl.doubtnut.com/l/_6Qsy6c9QVIhN
https://dl.doubtnut.com/l/_2jpcD5bOokkg


13. A rational number is such that when you

multiply it by  and add  to the product.

you get . What is the number?

Watch Video Solution

5

2

2

3

−
7

12

14. Lakshmi is a cashier in a bank. She has

currency notes of denominations Rs 100, Rs 50

and Rs 10, respectively. The ratio of the

number of these notes is 2:3:5. The total cash

https://dl.doubtnut.com/l/_ZbX9AIyk1qyT
https://dl.doubtnut.com/l/_vYuuQvKOPhfW


with Lakshmi is Rs 4,00,000. How many notes

of each denomination does she have?

Watch Video Solution

15. I have a total of Rs 300 in coins of

denomination Rs 1, Rs 2 and Rs 5. The number

of Rs 2 coins is 3 times the number of Rs 5

coins. The total number of coins is 160. How

many coins of each denomination are with

me?

Watch Video Solution

https://dl.doubtnut.com/l/_vYuuQvKOPhfW
https://dl.doubtnut.com/l/_HgVlBaRbwTBA


16. The organisers of an essay competition

decide that a winner in the competition gets a

prize of Rs 100 and a participant who does not

win gets a prize of Rs 25. The total prize

money distributed is Rs 3,000. Find the

number of winners, if the total number of

participants is 63.

Watch Video Solution

https://dl.doubtnut.com/l/_HgVlBaRbwTBA
https://dl.doubtnut.com/l/_qm3vrROBDibh


17. If you subtract  from a number and

multiply the result by , you get . What is

the number?

Watch Video Solution

1

2
1

2

1

8

18. The perimeter of a rectangular swimming

pool is 154 m. Its length is 2 m more than

twice its breadth. What are the length and the

breadth of the pool?

Watch Video Solution

https://dl.doubtnut.com/l/_UxCQWbjZmSi5
https://dl.doubtnut.com/l/_JLOmNoLKhJZM


19. The base of an isosceles triangle is  cm.

The perimeter of the triangle is  cm. What

is the length of either of the remaining equal

sides?

Watch Video Solution

4

3

4
2

15

20. Sum of two numbers is 95. If one exceeds

the other by 15, find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_JLOmNoLKhJZM
https://dl.doubtnut.com/l/_fTDkAMllB0QF
https://dl.doubtnut.com/l/_rLTO7Wv2QICa


21. Two numbers are in the ratio 5:3. If they

differ by 18, what are the numbers?

Watch Video Solution

22. Three consecutive integers add up to 51.

What are these integers?

Watch Video Solution

https://dl.doubtnut.com/l/_ESlP7GYFjDTe
https://dl.doubtnut.com/l/_oXKnNw9whuVU


23. The sum of three consecutive multiples of

8 is 888. Find the multiples.

Watch Video Solution

24. Three consecutive integers are such that

when they are taken in increasing order and

multiplied by 2, 3 and 4 respectively, they add

up to 74. Find these numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_bUtIrnt0osMO
https://dl.doubtnut.com/l/_0DhXN03tVtKB
https://dl.doubtnut.com/l/_r6nwZPt0ss5G


25. The ages of Rahul and Haroon are in the

ratio 5:7. Four years later the sum of their ages

will be 56 years. What are their present ages?

Watch Video Solution

26. The number of boys and girls in a class are

in the ratio 7:5. The number of boys is 8 more

than the number of girls. What is the total

class strength?

Watch Video Solution

https://dl.doubtnut.com/l/_r6nwZPt0ss5G
https://dl.doubtnut.com/l/_UhNJGrYFxoZy


27. Baichung’s father is 26 years younger than

Baichung’s grandfather and 29 years older

than Baichung. The sum of the ages of all the

three is 135 years. What is the age of each one

of them?

Watch Video Solution

28. Fifteen years from now Ravi’s age will be

four times his present age. What is Ravi’s

present age?

https://dl.doubtnut.com/l/_J7OX0ucKpCfR
https://dl.doubtnut.com/l/_2h7hehTyHrBS


Watch Video Solution

29. A rational number is such that when you

multiply it by  and add  to the product.

you get . What is the number?

Watch Video Solution

5

2

2

3

−
7

12

30. Lakshmi is a cashier in a bank. She has

currency notes of denominations Rs 100, Rs 50

and Rs 10, respectively. The ratio of the

number of these notes is 2:3:5. The total cash

https://dl.doubtnut.com/l/_2h7hehTyHrBS
https://dl.doubtnut.com/l/_8BOTDDP6JoZC
https://dl.doubtnut.com/l/_gXJqlyfKnQHI


with Lakshmi is Rs 4,00,000. How many notes

of each denomination does she have?

Watch Video Solution

31. I have a total of Rs 300 in coins of

denomination Rs 1, Rs 2 and Rs 5. The number

of Rs 2 coins is 3 times the number of Rs 5

coins. The total number of coins is 160. How

many coins of each denomination are with

me?

Watch Video Solution

https://dl.doubtnut.com/l/_gXJqlyfKnQHI
https://dl.doubtnut.com/l/_raq4ZsEhN89E


Exercise 2 3

32. The organisers of an essay competition

decide that a winner in the competition gets a

prize of Rs 100 and a participant who does not

win gets a prize of Rs 25. The total prize

money distributed is Rs 3,000. Find the

number of winners, if the total number of

participants is 63.

Watch Video Solution

https://dl.doubtnut.com/l/_raq4ZsEhN89E
https://dl.doubtnut.com/l/_i3HBGGaLRSBq


1. Solve the following equations and check

your result :

Watch Video Solution

3x = 2x + 18

2. Solve the following equations and check

your result :

Watch Video Solution

5z − 3 = 3z − 5

https://dl.doubtnut.com/l/_5YDrMbfbVJs1
https://dl.doubtnut.com/l/_dYbBJJTvBavd
https://dl.doubtnut.com/l/_gkZ07xvhGTNZ


3. Solve the following equations and check

your results. 5x + 9 = 5 + 3x

Watch Video Solution

4. Solve the following equations and check

your results. 4z + 3 = 6 + 2z

Watch Video Solution

https://dl.doubtnut.com/l/_gkZ07xvhGTNZ
https://dl.doubtnut.com/l/_KQ9Bu9JIeTGQ


5. Solve the following equations and check

your results. 2x – 1 = 14 – x

Watch Video Solution

6. Solve the following equations and check

your result :

WE have : 

Watch Video Solution

8x + 4 = 3(x − 1) + 7

https://dl.doubtnut.com/l/_u1MD0SwTK5Y6
https://dl.doubtnut.com/l/_OmnRiDlRTqjB


7. Solve the following equations and check

your result :

.

Watch Video Solution

x = (x + 10)
4

5

8. Solve the following equations and check

your results. 

Watch Video Solution

+ 1 = + 3
2x

3

7x

15

https://dl.doubtnut.com/l/_uvmxMZ6I11ia
https://dl.doubtnut.com/l/_68QJjPqGnLqi


9. Solve the following equations and check

your result :

.

Watch Video Solution

2y + = − y
5

3

26

3

10. Solve the following equations and check

your result :

.

Watch Video Solution

3m = 5m −
8

5

https://dl.doubtnut.com/l/_xHyChgynt2lT
https://dl.doubtnut.com/l/_vLQVyJlTdTvJ
https://dl.doubtnut.com/l/_takILBRF8G3v


11. Solve the following equations and check

your result :

Watch Video Solution

3x = 2x + 18

12. Solve the following equations and check

your results. 5t – 3 = 3t – 5

Watch Video Solution

https://dl.doubtnut.com/l/_takILBRF8G3v
https://dl.doubtnut.com/l/_kGE7TOGKqBp0


13. Solve the following equations and check

your results. 5x + 9 = 5 + 3x

Watch Video Solution

14. Solve the following equations and check

your results. 4z + 3 = 6 + 2z

Watch Video Solution

https://dl.doubtnut.com/l/_yAIGPMDTehZB
https://dl.doubtnut.com/l/_9jzQY7F38my8


15. Solve the following equations and check

your results. 2x – 1 = 14 – x

Watch Video Solution

16. Solve the following equations and check

your result :

WE have : 

Watch Video Solution

8x + 4 = 3(x − 1) + 7

https://dl.doubtnut.com/l/_yZhkWs1slNNg
https://dl.doubtnut.com/l/_RbTUfneE7FyP


17. Solve the following equations and check

your result :

.

Watch Video Solution

x = (x + 10)
4

5

18. Solve the following equations and check

your results. 

Watch Video Solution

+ 1 = + 3
2x

3

7x

15

https://dl.doubtnut.com/l/_AQjTioEIh15A
https://dl.doubtnut.com/l/_AMX7CEBIQMN6


19. Solve the following equations and check

your result :

.

Watch Video Solution

2y + = − y
5

3

26

3

20. Solve the following equations and check

your result :

.

Watch Video Solution

3m = 5m −
8

5

https://dl.doubtnut.com/l/_hNHwM2dYn8TA
https://dl.doubtnut.com/l/_Hw8IFDfLpnRj


Exercise 2 4

1. Amina thinks of a number and subtracts 

from it. She multiplies the result by 8. The

result now obtained is 3 times the same

number she thought of. What is the number?

Watch Video Solution

5

2

2. A positive number is 5 times another

number. If 21 is added to both the numbers,

then one of the new umbers becomes twice

https://dl.doubtnut.com/l/_aNOEHFDh27DT
https://dl.doubtnut.com/l/_dtCjak53Bsqv


the other new number. What are the

numbers?

Watch Video Solution

3. Sum of the digits of a two-digit number is 9.

When we interchange the digits, it is found

that the resulting new number is greater than

the original number by 27. What
 is the two-

digit number?

Watch Video Solution

https://dl.doubtnut.com/l/_dtCjak53Bsqv
https://dl.doubtnut.com/l/_3183KK6qDdwq
https://dl.doubtnut.com/l/_D0DKcMFBolv4


4. One of the two digits of a two digit number

is three times the other digit. If you

interchange the digits of this two-digit

number and add the resulting number to the

original number, you get 88. What is the

original number?

Watch Video Solution

5. Shobo's mother 's present age is six times

Shobo's preset age.Shobo's age five years from

https://dl.doubtnut.com/l/_D0DKcMFBolv4
https://dl.doubtnut.com/l/_HuzbNI3xCer4


now will be one third of his mother's present

age.What are their present ages ?

Watch Video Solution

6. There is a narrow rectangular plot, reserved

for a school, in Mahuli village. The length and

breadth of the plot are in the ratio 11:4. At the

rate Rs 100 per metre it will cost the village

panchayat Rs 75000 to fence the plot. What

are the dimensions of the plot?

Watch Video Solution

https://dl.doubtnut.com/l/_HuzbNI3xCer4
https://dl.doubtnut.com/l/_NMHygLgqvgjG


7. Hasan buys two kinds of cloth materials for

school uniforms, shirt material that costs him

Rs 50 per metre and trouser material that

costs him Rs 90 per metre. For every 3 meters

of the shirt material he buys 2 metres
 of the

trouser material. He sells the materials at 12%

and 10% profit respectively. His total sale is Rs

36,600.
 How much trouser material did he

buy?

Watch Video Solution

https://dl.doubtnut.com/l/_NMHygLgqvgjG
https://dl.doubtnut.com/l/_g231lqtQcdPh
https://dl.doubtnut.com/l/_q00YRQjR1w5h


8. Half of a herd of deer are grazing in the field

and three fourths of the remaining are playing

nearby. The rest 9 are drinking water from the

pond. Find the number of deer in the herd.

Watch Video Solution

9. A grandfather is ten times older than his

granddaughter.
He is also 54 years older than

her. Find their present ages.

Watch Video Solution

https://dl.doubtnut.com/l/_q00YRQjR1w5h
https://dl.doubtnut.com/l/_kdHArjvuDy57


10. Aman’s age is three times his son’s age. Ten

years ago he was five times his son’s age. Find

their present ages.

Watch Video Solution

11. Amina thinks of a number and subtracts 

from it. She multiplies the result by 8. The

result now obtained is 3 times the same

number she thought of. What is the number?

Watch Video Solution

5

2

https://dl.doubtnut.com/l/_kdHArjvuDy57
https://dl.doubtnut.com/l/_0Ki1pQuyn8BR
https://dl.doubtnut.com/l/_htHrV0a8N3ul


12. A positive number is 5 times another

number. If 21 is added to both the numbers,

then one of the new umbers becomes twice

the other new number. What are the

numbers?

Watch Video Solution

13. Sum of the digits of a two-digit number is

9. When we interchange the digits, it is found

https://dl.doubtnut.com/l/_htHrV0a8N3ul
https://dl.doubtnut.com/l/_zB7E94EC2XHa
https://dl.doubtnut.com/l/_ZWsBIhsvIzuq


that the resulting new number is greater than

the original number by 27. What
 is the two-

digit number?

Watch Video Solution

14. One of the two digits of a two digit number

is three times the other digit. If you

interchange the digits of this two-digit

number and add the resulting number to the

original number, you get 88. What is the

original number?

https://dl.doubtnut.com/l/_ZWsBIhsvIzuq
https://dl.doubtnut.com/l/_MMHgF0XmnjmP


Watch Video Solution

15. Shobo's mother 's present age is six times

Shobo's preset age.Shobo's age five years from

now will be one third of his mother's present

age.What are their present ages ?

Watch Video Solution

16. There is a narrow rectangular plot, reserved

for a school, in Mahuli village. The length and

breadth of the plot are in the ratio 11:4. At the

https://dl.doubtnut.com/l/_MMHgF0XmnjmP
https://dl.doubtnut.com/l/_FxPVME1cYKZD
https://dl.doubtnut.com/l/_1oyYItWCEDOr


rate Rs 100 per metre it will cost the village

panchayat Rs 75000 to fence the plot. What

are the dimensions of the plot?

Watch Video Solution

17. Hasan buys two kinds of cloth materials for

school uniforms, shirt material that costs him

Rs 50 per metre and trouser material that

costs him Rs 90 per metre. For every 3 meters

of the shirt material he buys 2 metres
 of the

trouser material. He sells the materials at 12%

https://dl.doubtnut.com/l/_1oyYItWCEDOr
https://dl.doubtnut.com/l/_qOmm34xhpJev


and 10% profit respectively. His total sale is Rs

36,600.
 How much trouser material did he

buy?

Watch Video Solution

18. Half of a herd of deer are grazing in the

field and three fourths of the remaining are

playing nearby. The rest 9 are drinking water

from the pond. Find the number of deer in the

herd.

Watch Video Solution

https://dl.doubtnut.com/l/_qOmm34xhpJev
https://dl.doubtnut.com/l/_scHzaQAmN8cF


19. A grandfather is ten times older than his

granddaughter.
He is also 54 years older than

her. Find their present ages.

Watch Video Solution

20. Aman’s age is three times his son’s age. Ten

years ago he was five times his son’s age. Find

their present ages.

Watch Video Solution

https://dl.doubtnut.com/l/_scHzaQAmN8cF
https://dl.doubtnut.com/l/_Kk3lfHSPQ0gj
https://dl.doubtnut.com/l/_T8OZ9fZ0Onjo


Exercise 2 5

1. Solve the following linear equations :

Watch Video Solution

− = +
x

2

1

5

x

3

1

4

2. Solve the following linear equations :

Watch Video Solution

− + = 21
n

2

3n

4

5n

6

https://dl.doubtnut.com/l/_OcIrqSHMA8fw
https://dl.doubtnut.com/l/_cJef29Glcjrj
https://dl.doubtnut.com/l/_yHWRpCVpnF7r


3. Sove the linear equation: 

Watch Video Solution

= −
8x

3

17

6

5x

2

4. Solve the following linear equation:

.

Watch Video Solution

=
x − 5

3

x − 3

5

5. Solve the following linear equations :

− = − t
3t − 2

4

2t + 3

3

2

3

https://dl.doubtnut.com/l/_yHWRpCVpnF7r
https://dl.doubtnut.com/l/_ctCevrr3lTeY
https://dl.doubtnut.com/l/_SG2hyEn82Aka


Watch Video Solution

6. Solve the following linear equation:

.

Watch Video Solution

m − = 1 −
m + 1

2

m − 2

3

7. Simplify and solve the following linear

equations : 3(t – 3) = 5(2t + 1)

Watch Video Solution

https://dl.doubtnut.com/l/_SG2hyEn82Aka
https://dl.doubtnut.com/l/_kgAI7H0BI4Ly
https://dl.doubtnut.com/l/_gQGy5c1Zv8Wo
https://dl.doubtnut.com/l/_OPuyginYR6us


8. Simplify and solve the following linear

equations : 15(y – 4) –2(y – 9) + 5(y + 6) = 0

Watch Video Solution

9. Simplify and solve the following linear

equations : 3(5z – 7) – 2(9z – 11) = 4(8z – 13) –

17

Watch Video Solution

https://dl.doubtnut.com/l/_OPuyginYR6us
https://dl.doubtnut.com/l/_MoSEVc35KEMe


10. Simplify and solve the following linear

equations : 0.25(4f – 3) = 0.05(10f – 9)

Watch Video Solution

11. Solve the following linear equations :

Watch Video Solution

− = +
x

2

1

5

x

3

1

4

https://dl.doubtnut.com/l/_bS2OeQgpqHbM
https://dl.doubtnut.com/l/_JgWlB91RT703


12. Solve the following linear equations :

Watch Video Solution

− + = 21
n

2

3n

4

5n

6

13. Sove the linear equation: 

Watch Video Solution

= −
8x

3

17

6

5x

2

https://dl.doubtnut.com/l/_rhhQr1ruQ4hC
https://dl.doubtnut.com/l/_qOtcyMK0cBT2


14. Solve the following linear equation:

.

Watch Video Solution

=
x − 5

3

x − 3

5

15. Solve the following linear equations :

Watch Video Solution

− = − t
3t − 2

4

2t + 3

3

2

3

https://dl.doubtnut.com/l/_3yboPAtjBrdT
https://dl.doubtnut.com/l/_Dk6Tsy0sBL8r


16. Solve the following linear equations :

Watch Video Solution

m − = 1 −
m − 1

2

m − 2

3

17. Simplify and solve the following linear

equations : 3(t – 3) = 5(2t + 1)

Watch Video Solution

https://dl.doubtnut.com/l/_IvoFvHT9bR04
https://dl.doubtnut.com/l/_Yxm7kOYDiIlp


18. Simplify and solve the linear equation : 

Watch Video Solution

(y − 4) − 2(y − 9) + 5(y + 6) = 0

19. Simplify and solve the following linear

equations : 3(5z – 7) – 2(9z – 11) = 4(8z – 13) –

17

Watch Video Solution

https://dl.doubtnut.com/l/_9qC8jPa6ZrAj
https://dl.doubtnut.com/l/_xav5cann8gKn


Exercise 2 6

20. Simplify and solve the following linear

equations : 0.25(4f – 3) = 0.05(10f – 9)

Watch Video Solution

1. Solve the following equations. 

Watch Video Solution

= 2
8x − 3

3x

https://dl.doubtnut.com/l/_FgmIgbA8oje3
https://dl.doubtnut.com/l/_PWe49PXSRUWs


2. Solve the following equations. 

Watch Video Solution

= 15
9x

7 − 6x

3. Solve the following equations. 

Watch Video Solution

=
z

z + 15

4

9

4. Solve the following equations.

Watch Video Solution

=
3y + 4

2 − 6y

−2

5

https://dl.doubtnut.com/l/_AtwJt1seYWE8
https://dl.doubtnut.com/l/_h9DLbqTmTCSY
https://dl.doubtnut.com/l/_Y5255qMtZEw8


5. Solve the following equations.

Watch Video Solution

=
7y + 4

y + 2

−4

3

6. The ages of Hari and Harry are in the ratio

5:7. Four years from now the ratio of their

ages will be 3:4. Find their present ages.

Watch Video Solution

https://dl.doubtnut.com/l/_Y5255qMtZEw8
https://dl.doubtnut.com/l/_SUmKUdgjXaSr
https://dl.doubtnut.com/l/_yaL2h24XWMm2
https://dl.doubtnut.com/l/_VoLbBlwTSwoL


7. The denominator of a rational number is

greater than its numerator by 8. If the

numerator is increased by 17 and the

denominator is decreased by 1, the number

obtained is . Find the rational number

Watch Video Solution

3

2

8. Solve the following equations. 

Watch Video Solution

= 2
8x − 3

3x

https://dl.doubtnut.com/l/_VoLbBlwTSwoL
https://dl.doubtnut.com/l/_jxWtOsdmdvd5
https://dl.doubtnut.com/l/_JR4ea36L3JK9


9. Solve the following equations. 

Watch Video Solution

= 15
9x

7 − 6x

10. Solve the following equations.

Watch Video Solution

=
z

z + 15

4

9

11. Solve the following equations.

Watch Video Solution

=
3y + 4

2 − 6y

−2

5

https://dl.doubtnut.com/l/_JR4ea36L3JK9
https://dl.doubtnut.com/l/_AeA2TMBqz7HV
https://dl.doubtnut.com/l/_Y1XpKihvsVXl


12. Solve the following equations.

Watch Video Solution

=
7y + 4

y + 2

−4

3

13. The ages of Hari and Harry are in the ratio

5:7. Four years from now the ratio of their

ages will be 3:4. Find their present ages.

Watch Video Solution

https://dl.doubtnut.com/l/_Y1XpKihvsVXl
https://dl.doubtnut.com/l/_OSmsoHzgdwYm
https://dl.doubtnut.com/l/_ocz5mID2JI0D
https://dl.doubtnut.com/l/_axwXTx9Mk5Zu


14. The denominator of a rational number is

greater than its numerator by 8. If the

numerator is increased by 17 and the

denominator is decreased by 1, the number

obtained is . Find the rational number

Watch Video Solution

3

2

https://dl.doubtnut.com/l/_axwXTx9Mk5Zu

